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waw | prx| BB |1 R | HER B 2 8 | yems | simw

e | U | BUE | pow |8 AT e u| B0 san

% % T
£ H 6.8 1.1 A43 18 0.8 20.1 9.6 10.7 3.2 25 0.7 43| 157
s B2 6.1 115 A54 18 038 16.8 8.3 8.6 2.1 16 06 35 143
TN 5.9 105 A46 2.3 15 20.2 11.3 9.1 2.3 15 0.8 32[ 139
ERmEm 741 89| A18 - - 19.4 14.6 49 49 49 - 35 1.46
i 5.8 89| A3.1 3.4 1.7 185 10.2 8.5 - - - 33 1.37
3w A5 BT 6.7 93| A26 - - 35.7 18.2 18.2 - - - 421 2.1
= InET 6.9 108| A39 - - - - - - - - 34| 107
BT 5.2 130 A78 - - - - - - - - 27| 213
AT 29 244 A215 - - - - - - - - 2.1 0.59
J\EEET 38 186 A14.8 - - 48.8 25.0 25.0 - - - 22 078
&)1 ET 2.8 202| A174 - - 455 - 455 - - - 1.9 054
ES=1Es) 5.0 18.4| A134 - - - - - - - - 25 149
S ET 5.6 110 A54 10.2 10.2 29.7 10.1 20.0 10.1 - 10.1 28 143

<EHELEOEWBFHE>
H4-FET - 3R - B IR = 1 M DB 3108 1 BIRAD A O x 1,000
BREME=(1EHOEER—1EROETE) 1071 BEAEDAD X 1,000
EER(BARWER ATRER)=E(BR- ALK/ HE (HBE+EE) # x 1,000
AR CERGFERETCE REHFERECR)=ARECHEFER - BHFHFERETE).HEH x 1,000
EERATE TS R =T IR 22 LUk D SEEE S+ B EAST A R B T8 tH BE(HH A 3+ 0T 4R 78 2258 LA 1% D B 78 30 %K x 1,000
D4R 2 258 LAt D FE R = TR 22:8 ARG D SEEE SR HH B (B A4k + 3R IR 22:B LIBE D SEEESR) x 1,000

KEFIAOFH,
EERVEOHIERT, EEFBHELKIE.
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£EF : SM2E10R 1 BREHGAD (RBEHER)
BB RUOHETH . 241081 BIRAMS A D (BHKETE)



